\

gs\C|

S RS AE A
IBZ 3

EREE RS - HE
- BAERR IR RiF
o R BAEE | iy E4H N BB {éﬁ
7 (mm) " . i3
(el FE s umm
= =) N
= =) o= > JB12-3-050 12 M3x0.5 112 112 0.5
T JB16-4-070 16 M4 x 0.7 200 200 0.5
JB20-5-080 20 M5 x 0.8 1100 300 0.5
JB25-6-100 25 M6 x 1 2500 500 0.5
JB40-8-125 32 - 40 M8 x 1.25 6000 1300 075 |, ..
JB63-10-150 50 - 63 M10x 1.5 11000 3100 1
JB80-16-200 80 M16 x 2 18000 5000 1.25
JB100-20-250 100 M20 x 2.5 28000 7900 2
JB140-22-250 125140 | M22x25 54000 15300 25
JB160-24-300 160 M24 x 3 71000 20000 3
SMERSTE (Z2K)
& e EAA B
JB12 - 16 ot M
i
. /
=Rl
RS RTIA ‘ @Q r
a L1 a i
A =h \ | /
JB|40|—|8-125 |—| x11| =
G H
-
E _L
L/ R AT A
- R
w11 | AL
-5~100C
JB20~160
S FRIT b M
i A TR (mm) e—— SRR M /
e & A KL (mm) WRLLFRIT: i A UL
] = — \ —
12 12 3-050 M3x0.5 f!\ v ] | f a !
16 16 4-070 M4 x 0.7 ) T I =
20 20 5-080 M5 x 0.8 = —
25 25 6-100 M6 x 1
20 32 - 40 8-125 M8 x 1.25 T
63 50 - 63 10-150 M10x 1.5 F B G H
P
80 80 16-200 M16 x 2 c |E p
100 100 20-250 M20 x 2.5 A
140 125 - 140 22-250 M22 x 2.5
160 160 24-300 M24 x 3 R
(mm)
. iy | BHHEK
P 4& =}
BAE e M A|B|C|D|E|F|G|H il P
12 JB12-3-050 M3x05 [245| 3 | 4 | 16 | 2 | 6 | 5 | 10 | 13 7
16 JB16-4-070 M4x0.7 |[265| 45| 6 | 16 | 2 | 6 | 5 | 10 | 15 7
20 JB20-5-080 M5x08 | 33 | 5 | 65| 21 |45 | 7 | 7 | 13 | 195 8
25 JB25-6-100 M6x1 |38 | 6 | 8 | 24| 5 | 8 | 8 | 17 | 225 9
32 - 40 JB40-8-125 M8x1.25 | 51 | 85 | 11 | 31 | 6 | 11 | 11 | 22 | 29 13
50 - 63 JB63-10-150 M10x1.5 | 625 | 10 | 13 | 41 | 7.5 | 14 [135| 27 | 355 15
80 JB80-16-200 M16x2 [805| 16 | 20 | 50 | 95 | 19 | 16 | 32 | 475 18
100 JB100-20-250 | M20x2.5 | 101 | 21 | 26 [59.5|11.5| 24 | 20 | 41 | 59 24
125 - 140 | JB140-22-250 | M22x2.5 | 129 | 18 | 22 | 79 | 14 | 30 | 22 | 46 | 715 38
160 JB160-24-300 M24x3 | 149 | 20 | 26 | 96 | 16 | 36 | 24 | 55 | 83 42

1.365





